A - 2017/7/30 R
w4 TR R THE
ke TR TIRE R Rl AT
T R4 TR, RRTHELZES B2t 4 TR TRE EEEE
Aft | fEH PAITA 3fL AL 5{iF 6fir 8fr
. B KW 1.2 18)|[{EAR #HX 120 (-1.8)|&F =B 120 (-1.8)|BIE 1% 123 (-1.8)[#& 1L 5%k 12.7 (-1.8)[EED {8F0 12.7 (-1.8)|iED #E— 12.7 (-1.8):23# &K 12.8 (-1.8)
—fEER BT 7TH30H | 100m
RizeAC AR Nz R RizeAC R (D =g~d:T R 32 8R s ER
77308 | 400m BE £t 56.9|28 &N 57.1|&)1 EiE 595|/\k —= 1:02.8
R HR I Ek R
TH30H | 1500m we = 5:35.7
FAIE 2287
M BB 16:35.8|f3i8 3% 16:43.9| 33 # 16:51.4|85K % 18:07.2| K1 # 19:38.6
7H30H | 5000m
pi1);4-—2 HRTIEER =&mkER R N B
"R 47.3| N EHA 48.4| B HB 50.9
Il &k nE ME N FR
TH30H | 4x100mR [;ZE HMA &F EEK WE @K
BE £t no s+ INE IBF
EAR #fix EH SR Bl EiE
1Rs0m | em =H B[ w5.70 (+3.9)|#AE ik w4.84 (+2.9)
"R BB
1hs0m | s BEE EN 11.05(#E 5 784\t H 8 IAVILN: W& 7.16
R ATEER BB R 5281 s
wesam s | 7308 | 100m HiE X 11.8 (-1.2)| & =N 120 (-1.2)|ML 5T 121 (-1.2)|B+E =X 122 -1.2)[iE& B 124 -1.2)|)I3 3hE 125 (-1.2)| =g 2= 125 (-1.2)|R8& RiE 127 (-1.2)
;& T R HR-ARIF FE B - RE S R -FREkE HR-HREkE ;& Tl AR-ARH
1308 | 400m R #EE 55.4|#TH BEN 55.6%& Lz 56.7|&IL Fik 57.2|{kE IRE 58.1|{Fk BE 1:000|#TH FEH 1:00.6| 5H 53R 1:01.3
;R -aRIks Fin-PEERD ER-ARF R B - RE S i FRERP R -Fdtkot ;& Tl R-WEERS
2301 | 1500m INE EBE 4198| vk —& 4:253|iEE EAER 4318|828 & 4337\ EHF 4378|=8 {87 4:40.1| 1L EX 4454|FE KB 4:47.6
Fin-FEERD ;R -aRIks FR-FERERS R i FRERP % B - R H S R-WEERS ;R Tl
7308 | 11omm AN BEKER 17.0 (20| =+ BB 179 (20| E+E B 19.3 (-2.0)|EH & 19.4 (-2.0)| %5l 538 194 (-2.0)|B# K# 20.5 (-2.0)
;& Tl ;& Tl FaE B - RE S FR-FERERS - RERSP - RERSP
#iH-Tudc 47.7| R R -FREEBA 479|EEH-ZHEBA 487|HR-FARPA 48.9|#i5 - FIUHA 49.2|FiR-FEERHA 50.6|%7i - BRE— P 52.6
K #9 JI#E 5hE =8 Ea wE ®IA T8 Bt EH A R &z
TH30H | 4x100mR |#5K EXx Ik & Et+E B EE Dz HHI B it B% RH# B
Bus z wE E Al F/iK ik M BATER 412F fas (EF Ao EH
HE X BE =N At+E A Bk RE 2R 153 23 Wik B
. BE D& 171 Rt 1.58|B8)I S3B 15543 | 1.46
TH30B | Embk
win-FEERSD win-FEERD in-FEERS iR FEERS
thson | i Pk M w5.39 (+2.9)| g BE% 5.31 (+1.6)|BH 7 5.31 (+0.6)| KIS #7 w521 (+2.8)|K#H H#t wb5.16 (+3.6)|#fIL EIE wa.81 (+38)|iEFH BE3t wa.69 (+4.4)|{ERE FI w4.43 (+5.1)
HER- ARG win-FEERD R -FREG ;- Fls i - BRE—p i Tl R -G i T
1308 | rase fEiE & 9.50|BaTER 41 903|5H# Hih 8.32|/ I tEE 7595 EA 102|e3 mE 735|m® & oo6|EE = 6.02
& Tl i Tl R -FREG iR FEERS HR-FtkG HR-FfkG 8- gEERT R -G
o . &I 18 135 (2.9)|ER B 143 (-2.9)|FR B 147 (2.9)|B) R 148 (-2.9)|8A8 FEIE 159 (-2.9)|FEE & 159 (2.9)|AR H#X 16.3 (-2.9)
INFAERT | TH308 [ 100m X )
LIZt=TFC o352 =&Taz7 LIZt=TFC o352 =&Taz7y o352
2308 | 1500m RE XFE 5:06.8|;L)I K 5:27.6&# =X 5:39.3|FHh FEEH 541400 i 5:439iE1D R 5:49.9|%&E B 5:50.8|3&)Il & 5:56.4
ERVEISYLIFT ERVEIZVYLIST BERVEISVYLIST LIZt=TFC ERVEISYLIFT =&Taz7y =&Taz7 =&Taz7y
YT TA 1.009| ERDVETSVYLIST 1.034|=%&221=7B 1:06.6|#1#20578B 1:09.5|MFES2=TF 1:09.7
e BE TE KA ZE B EE K A+ HEE
TA30H | 4x100mR (Ae& {4Bh I K 2R B F NI TEE K—
AR X =g BX % BE Bk LKz B mE
B B B D BH R EiD R R ER




et | 7508 | 100m IMNE 5F 139 (2.0)|Aw E3 141 20)|3RE # 15.8 (-2.1)
AR AR iR
7TH30H | 400m
7a308 | soom AR K 2:487|%MH HEE 2509| EE 8 3057
pi1);4:2 "R i B
TRs0f | Sl % 3.72 (+0.5)
pi1);4:2
TRsof | s WH ME 6.91
FAI %5 22 8A
st | 7308 | 100m INE BF 132 (1.9l EE 137 (19| ILF #%F 140 (1.9[FH)I FE&E 141 C1.9)|FRR & 143 -1.9|KE & 144 (-1.9)|BRE =& 145 (-1.9)|{k8E 145 (-1.9)
;& Tl ;& Tl iR SRS AR - FH sk ik Tl HER-ARH AR-ARS AR AR
77308 | 800m M BR 2:306|5& ME 2:40.1| Bk FHE 2:40.4|1%% AIER 2:405|1R3 BE 2422| ¥ EHE 2:42.3|E3 i 2:427| LM £ 2:43.8
R FEERS R AR ARt AR - FH sk i BRI i BRI HER-BERIF R -BRE—F
75308 | 100mH IR #ih 15.6 (-2.4)|#%1L & 16.1 (-1.9)|tk% W7 162 (-20)| AR B%&H 16.5 (-2.4)|{Ri& Fiid 17.2 (-20)|{RE BE 174 (24)|5 % B8 177 (-2.4)|BH 39 185 (-1.9)
;& Tl ;- Tl ;& Tl 8 8- RESP ER-ARF - FRERP HR-FHET R -BRE—F
#im- FlusB 53.1|pE - KHPA 54.6| % FLUHA 55.5| R R - FHidtipA 56.3| &R - Atk B 57.1|#&- Filudc 574| AR -ARHB 57.8| AR AR 1:02.9
wE ;b g INE INE BT g =T AR BE M EZE HE LA =R KM
TH30H | 4x100mR (#5)1] B Kz & &k BT #HIl k&£ e ¥R I0 KR XiI Efh 3
ZF oz BARE /% IR BR FE Bk HH SR B EE KE & E FK
fER & Bl K% £k AE EE #E HE EX NF = BE £E& R BEY
(1T m 157 £Z=E 154|E+E EA 145 K% 8 1.33|1k% BE 1.33 B BHEE 1.30(#1H# K 1.20
Ths0n | e iR gEERS #;iH- Tl iR gEERS Fa % B - RE HR-FEG R -FEG 5 -8RIk H
=R RME 1.33
HER-BARIP
thson | ik IR BE w4.58 (+2.9)|BARE /MR w449 (+2.2)|1E% EHETF 429 (+1.49)|E# 18 414 (+2.0)|4EE EX wa.12 (+3.2(IA RiE w4.03 (+2.4)| Kk BE® w3.93 (+3.2)|HE WLAE w3.92 (+2.3)
;5 Tl FE B REP iR gEERS iR gEE RS HER-ARH i Tl e BRE—+ HER-ARF
Thson | R W Hny M41|&F B|E 1051|158 HE 9.08|1RHN EBZH 8.69|ta #Ex 8.52|ftL FEE 8.30|1EHE MR 7.80|KiI Em 7.79
R -BRE—F iR g RS R -Fskp B Tl i - BRE—p 8- EERSD R -FEG HER-ARF
it | 7308 | 100m AR BHE 144 (-1.9)|77 8% TR 149 (-1.9)FE = 15.2 (-1.9)| K& #Xk 156 (-1.9)[ZE X& 15.6 (-1.9)|%1L £k 15.9 (-1.9)|5% % 16.1 (-1.9)|FH% EK 16.1 (-1.9)
MED21=T LIEfTFC MES2=7 MESL=T LIEf=TFC o527 LIEfTFC LIEt=TFC
shson | soom |BE EX 2:30.2|IE R 2446|B5K %A 2449|E+3H BE 2:46.2|1F8E Fix 2:475|5H BE 2479(Hl BF 2498|228 ¥E 2513
ERVEIZVYLIFT AERVEISVYLIST ARVEISYLHIST MES2=7 ERVEIZYLIFT ERVEISVYVIST =&Taz7 o357
LIEf=TFC 59.1|fAFED1=TA 59.5|# IS TA 1:029|MFED21 7B 1:036| ERDETSYLI5TB 1:04.2(##557B T ERVEISYLI5TC 1:11.9
g EX & #hk BE &N HR R = xR =il =aE \R BX
TH30H | 4x100mR |k Fk GR R RAE 28 g% Al x=E Bl & ®H B35 fEIS Az
miE XE i A MR ER AR D EiD FE R Bk e &
i E PR 2 LS EiE S Bk Rtk B8 KK AR AE

w (wind assist) : 1BJEZ5




